


MBBA

LCD

LCD
LCD
LCD
LCD

LCD
LCD



CRT Cathode-ray tube Vacuum
Fluorescent Display ; VFD Plasma Display Panel ; PDP
Electro Luminescence ; EL Light Emitting
Diode ; LED Liquid Crystal Display ; LCD

Electro-chromic Display ; ECD

LCD
LCD
LCD
LCD
LCD
LCD
LCD
LCD
LCD
LCD

LCD LCD



liquid crystal

phase

mesomorphic phase

LCD



MBBA
p methoxy benzylidene p’ butyl aniline MBBA
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MBBA 22 22 47
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MBBA  Leslie 21 t
Pa s
Leslie
a -0.0215 + 0.0034 / 10x ( £— 20)
a2 -0.1534 + 0.0043 / 10x ( £— 20)
as -0.000773 - 0.000331 / 10x ( £— 20)
a4 0.1095 - 0.0269 / 10x ( t— 20)
as 0.1071 - 0.0292 / 10x ( t— 20)
ase -0.0471 + 0.0135/ 10x ( £— 20)
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